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BF2.3 SCHU 23 1 57 8O3/ pyuHast Kapb. - pymnens S 124

BF5 SU 50 1 127 BOL. pyuHast Kapb. - pymnens S 275

BF5 SBU 50 1 127 8O pyuHas Kapo. 3 pymnens S 275

BF10 SHU 10 2 222 BOL. pyyHas Kapo. 6 pymnenb S 40

BF15 SHU 15 2 350 BoA. pyuHas Kapb. 6 pymnens S 465

BF20 SHU 20 2 350 BOL. pyuHast Kapb. 6 pymnens S 465

BF20 SRTU 20 2 350 BOL. SEKTP. Kapo6. 2 AUCTaHL, S 495

BF20 SHSU 20 2 350 Bo. MEKTP. kapo. 12 pymnens S 495

BF30 SRTU 30 3 552 oA SNEKTP. Kap6. 10 AVCTaHL. S 790

BF30 SHGU 30 3 552 BOA. MEKTP. Kapo. 10 pymnens S 720

BF40 SRTU 40 3 808 BOL. SEKTP. SMEKTPBMP. 17 AUCTaHL, S 96.0

BF50 SRTU 50 3 808 BOA. SNEKTP. SMEKTP.BMP. 17 AVCTaHLL. S 96.0

BF50 LRTU 50 3 808 oA SMEKTP. INEKTPBMP. 17 AVCTaHLL L 98.0

BF60 LRTU 60 3 998 BOA. MEKTP. SMEKTP.BP. 2 QVCTaHL. L 110

BF80 LRTU 80 4 1496 BOL. SMEKTP. SMEKTPBMP. 44 AUCTaHL, L 162

BF90 LRTR 90 4 1496 BOL. SIIEKTP. SMEKTP.BMP. 44 IVUCTaHL, L 163

BF100 LRTU 100 4 1496 o SMEKTP. NEKTP.BMP. 44 AVCTaHLL L 163

\60 BF115 L 15 4 2354 BOA. MEKTP. SMEKTP.BMP. 55 JVICTaHL. L 217

N BF135 L 135 4 2354 BOL. IMEKTP. 3MEKTPBMP. 51 AVICTaHL, L 217

O\' BF150 L 150 4 2354 BOA. SMEKTP. SNEKTP.BP. 51 AVCTaHL. L 217

20. BF150 XU 150 4 2354 8oA. JNEKTP. SNEKTP.BMP. 51 AVCTaHL, X 220

% BF225 LU 225 V6 3471 BOA. EKTP. 3NeKTP.BMP. 90 AVICTaHL, L 267

% BF225 XU 225 V6 3471 BOL. SIEKTP. SMEKTPBMP. 90 AUCTaHL, X 272

% BF250 XU 250 V6 3583 BOA. SMEKTP. SNEKTP.BMP. 90 AVCTaHLL, X 284
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